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N = 0 & AF & Y A
20148 20 A LEANZTEHALSEESH A
2N A=
HM: AP (ZEYXFHL/RNELEZA])
Sel ASTABY(YSAFHALSEIN) (ol @)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@i HRE2
A= 2,419,600 1,666,800 752,800
FEHMU(ZEL XML /NI LZ Al 2,419,600 1,666,800 752,800
AELAEE (LEATHAILELESH) 13,680 9,360 4,320
SHAHAESA T - & 13,680 9,360 4,320
201 et d| 4,880 560 4,320
01 AR 22l ] 4,880 560 4,320
Ogttf=2y| 4,880
CRSHUARUAASEALD
3,0008 ~ 60 180
oHHFANREE 2 500,000 = 14l 500
cEHASSLEY T2
400,0008 * 8™ 3,200
o2 A 2 200,0008 = 5= 1,000
202 04| 8,800 8,800 0
01 2L HI 8,800 8,800 0
OO0l M= A=0dl 2,400,000& = 14! 2,400
OHAHAEZE S50 2,400,0008 = 14! 2,400
OR+HEE ST A T A
4,000,000& 14l 4,000
DIZEH AL (LEANTEHAILEL S H) 2,405,920 1,657,440 748,480
=20l FE S22 10,530 9,430 1,100
201 et 5,530 5,530 0
01 AP 2t 2] d| 5,530 5,530 0
Ogtt4L2Y| 5,530
o NXM HZ 250,000 25 500
o2y ZHEHZ
1,500,000 34 4,500
ocILZIHI EH F¢ 150,000 23] 300
oLZIHI &8 R 230,000& 13| 230
202 o4l 3,900 3,900 0
01 2L I 3,900 3,900 0
OSXN2HMY X =00 (2LH)
2,400,000& 14l 2,400
OsXN2HMY X 400 (22)
1,500,000 * 14! 1,500
405 XHAHFI S HI 1,100 0 1,100
01 XAt 2 ZF S| 1,100 0 1,100
E0olA d2H 2 400,000 1CH 400
OAMYH ¢ 700,000 1CH 700
ol g1 4] 2,395,390 1,648,010 747,380
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